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ljBfyL{ ;]6 -v_ 

lgbfgfTds k/LIff 

 

sIff M * ljifo M lj1fg tyf k|ljlw 

 

Group 'A' 

tnsf k|Zgsf] ;xL ljsNkdf l7s -√_ lrx\g nufpg'xf];\ .  Tick -√_ the correct alternative for the 

given questions.                        (151=15) 

1 = k|of]uzfnfleq sfFrsf pks/0f ttfpFbf s'g ;fjwfgL ckgfpg'k5{ < Which precaution should be 

taken while heating glass apparatus in laboratory ?  

A. pks/0fsf] d'vnfO{ cfk"meGbf k/lt/ kmsf{pg] Incline the mouth of the apparatus against own face 

B. pks/0fsf] d'vnfO{ tnlt/ kmsf{pg] Incline the mouth of the apparatus downwards 

C. ttfPsf] pks/0fnfO{ sf7sf] 6]a'ndf /fVg] Place the hot apparatus on wooden table 

D. ttfPsf] pks/0fnfO{ 6]an'dfly ePsf] Unf;l;6dfly /fVg] Place the hot apparatus on the glassheet 

of table 

2= Ps hgf JolStn] gofF OG6/g]6sf] h8fg ug{ rfx]sf 5g\ . ltgn] tnsf dWo] s;nfO{ ;Dks{ ug'{k5{ < 

A person wants to connect new internet. To which of following should he/she contact? 

A. j]a;fO6 Website 

B. cfOP;kL ISP 

C. ;r{ OlGhg Search engine 

D. ;f];n g]6jls{ª  Social networking 

3= lbOPsf dWo] k|of]uzfnf aflx/ ul/g] k|of]ufTds sfo{ j'mg xf] < Which of the following is the practical 

work  done  outside  the laboratory? 

A. la?jfsf] j[l4 cWoog ug' { To study plant’s growth 

B. la?jfsf] kftsf] leqL agf]6sf] cWoog ug'{ To study internal structure of leaf 

C. ;+o'St l3gL{ k|0ffnLsf] ult cg'kftsf] cWoog ug' { To study velocity ratio of a compound pulley 

system 

D. uf]nf] P]gfn] agfpg] cfj[mltsf] k|j[mlt cWoog ug'{ To study the nature of image formed by a 

spherical mirror 
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4= lrqdf b]vfOPsf] k|lj|mof;Fu ;DalGwt ;xL tYo j'mg xf] < Which statement is true related with the 

process shown in the given diagram?  

A. PGy/af6 k/fus0f l:6Udfdf hfg] k|lj|mof Process 

of transferring pollen grain from anther to stigma 

B. cf]e/Lleq cf]e'n aGg] k|lj|mof   Process of 

forming ovule in ovary 
C. efn] / kf]yL Uofld6sf] ldng x'g] k|lj|mof Process 

of fusing male and female gamete 

D. lapaf6 kmn aGg] k|lj|mof Process of forming 

fruit from seed 

 

5. Ps hgf ls;fgsf]] au}Frfdf /x]sf sfutLsf af]6dWo]sf] Pp6f af]6df /l;nf / 7'nf sfutL kmNg] 

ePsf x'gfn] ltgn] p:t} sfutLsf s]xL af]6 yKg] of]hgf agfP . pgn] pSt af]6sf goFf la?jf sd 

;do / sd nfutdf tof/ ug{sf nflu tnsf dWo] j'mg ljlw pko'St xf]nf < In a garden of a 

farmer, out of different plants, a lemon of them bears juicy and bigger fruits relative to other plants. 

He/she planned to grow some new plants from the same lemon plant. Which method of following will 

be suitable to grow new plants in less investment and in short time from this plant? 
A. l6:o' sNr/ Tissue culture 
B. u|flˆ6ª Grafting 

C. n]ol/ª Layering 
D. lapsf] k|of]u u/]/ Using seed 

6. g]kfn h}ljs ljljwtfdf wgL x'g] sf/0f tn lbOPsf dWo] j'mg xf] <  Which of the following is the 

reason of Nepal being rich in biodiversity?      

A. xfjfkfgLdf ljljwtf  Diversity in climate    

B. df};ddf ljljwtf  Diversity in weather  

C. hn;|f]tdf ljljwtf  Diversity in water resource  

D. vfB pTkfbgdf ljljwtf  Diversity in food products 

 

7. sf]ifsf] zlStu[x j'mg cf]uf{g]N;nfO{ dflgG5 < Which organelle is considered as power house of a cell ? 

A. uf]NhL a8L  Golgi body 

B. dfO6f]sf]lG8«of Mitochondrion  

C. Eofj'mn Vacuole 

D. ;]G6«f]hf]d Centrosome  
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8. 72 km/hr sf] ultdf uO/x]sf] Pp6f uf8Ldf a|]s nufpbf olb To;sf] ult 0.25 ldg]6df 5 m/s  x'G5  

eg] To; uf8Lsf] k|j]u slt xf]nf < If  a vehicle running in a velocity of 72 km/hr changes its velocity 

to 5 m/s after 0.25 minutes after brake is applied, what is its acceleration?  

A. – 0.6 m/s2 

B.  0.6 m/s2 

C.  1 m/s2 

D. – 1 m/s2 

 

9. bf];|f] bhf{sf] pQf]nsn] xfd|f] sfdnfO{ s;/L ;lhnf] agfpF5 < How does a second class lever make our 

work easier ?  

A. ansf] dfgnfO{ a9fP/ By magnifying force 

B. sfd ug]{ b/nfO{ a9fP/ By accelerating work 

C. ansf] dfg / sfd ug]{ b/nfO{ a9fP/ By magnifying force and accelerating work 

D. ansf] lbzf kl/jt{g u/]/ By changing direction of force 

 

10 . lbOPsf] lrq;DaGwL j'mg tYo ;xL 5 < Which statement is true about the given diagram?  

 

 

 

 

 

 

A. sf]0f AOC / sf]0f NOB sf] dfg a/fa/ x'G5 . Angle AOC and angle NOB are equal 

B. sf]0f AON / sf]0f NOB sf] dfg a/fa/ x'G5 . Angle AON and angle NOB are equal 

C. sf]0f AOC / sf]0f AOB sf] dfg a/fa/ x'G5 .  Angle AOC and angle AOB are equal 

D. Q k/fjlt{t sf]0f / R cfkltt sf]0f xf] . Q is angle of reflection and R is angle of incidence 

 

11. j'mg} j:t'nfO{ l3;fbf{ / u'8fpFbf 3if{0fsf] dfgdf s:tf] kl/jt{g cfp5 < What change occurs in the 

friction, when a body is rolled instead of sliding? 

A. 36\5  Decreases 

B. a95  Increases 

C. kl/jt{g x'Fb}g Does not change 

D. 36\g jf a9\g ;S5  May decrease or increase 

 

  N 
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12. lrqdf b]vfOPsf tŒjsf] kf/df0fljs ef/ slt x'G5  < What is the 

atomic weight of the element shown in the diagram?  
A. 18 

B. 22 

C. 36 

D. 40 

                       

   13. lbOPsf] tflnsfdf kfgLsf s]xL gd'gf / ltgsf] k/LIf0f b]vfOPsf 5g\ . pSt k/LIf0fsf] 

clen]vLs/0f ubf{ Pp6f uNtL ul/Psf] 5 . pSt uNtL sxfF ul/Psf] 5 < Some samples of water 

and their tests are shown in the table. During recording the test, a mistake is made. Where is the 

mistake  made? 

gd'gf Sample 1 2 3 

nj0fsf] pkl:ylt 

klxrfg identifying 

salt present 

SoflN;od Snf]/fO8 

calcium chloride 
kf]6fl;od Snf]/fO8 

potassium chloride 
DofUg]l;od Snf]/fO8 

magnesium chloride 

;fa'g ld;fpFbf  when 

mixed with soap 

lkmh lbg] 

forms lather 
lkmh glbg] 

does not form lather 
lkmh glbg] 

does not form lather 

r'gkfgL ld;fpFbf  

when mixed with lime 

water 

;lhn} ;kmfO ug]{ 

cleans easily 
;lhn} ;kmfO ug]{      

cleans easily 

;lhn} ;kmfO ug]{     

cleans easily 

A. gd'gf 1 sf] klxnf] nx/df (In first row of sample 1)   

B. gd'gf 2 sf] bf];|f] nx/df (In second row of sample 2)   
C. gd'gf 3 sf] t];|f] nx/df (In third row of sample 3)   

D.  gd'gf 2 sf] klxnf] nx/df (In first row of sample 2)   

14.olb s'g} tŒjsf] k/df0f'df !# cf]6f k|f]6f]g / !$ cf]6f Go'6«f]g /x]sf 5g\ eg] To;sf] ;++o'Hotf slt 

xf]nf < What is the valency of the atom of the element having 13 proton and 14 neutron? 

A. 1 

B. 2 

C. 3 

D. 4 

15. tnsf dWo] ldl>t wft' j'mg xf] < Which of the following is mixed metal? 

A.     tfdf Copper 

B.      l:6n Steel 

C.      cfNd'lgod Aluminium 

D.      h:tf Zinc 
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Group B 

            tnsf k|Zgx¿sf] pQ/ lbg'xf];\ .   Answer the following questions. 

16. v'n]sf] kmfOndf kmf]6f] Ol8l6ª ubf{sf] klxnf] r/0f n]Vg'xf];\ .  Write the first step of photo editing in 

the opened file.                       (1)  

……………………………………………………………………………………………………………… 

17. Ps hgf JolStsf] cfxf/gnL leqsf] v/faLn] ubf{ lrNnf] kbfy{sf] kfrg eO/x]sf] 5}g . pSt JolStsf] 

cfxf/gnLsf] j'mg efunfO{ pkrf/sf] cfjZostf 5 < A person cannot digest fat properly due to 

disorder in alimentary canal. Which part of the alimentary canal is needed for treatment?      (1) 

……………………………………………………………………………………………………………

…………………………………………………………………………………………………………… 

18. j'mg} JolSt bf}8\bf jf s8f Jofofd ubf{ p;sf] d'6'sf] w8\sgsf ;fy} Zjf;k|Zjf;sf] b/ klg a9\g] 

sf/0f s] xf] <  What is the reason of increasing the rate of  heartbeat and respiration  of a 

person during running or doing heavy exercise ?                                       (1) 

……………………………………………………………………………………………………………

…………………………………………………………………………………………………………… 

19. dfgjsf] k|d'v  lgisf;g cª\usf] gfd n]Vg'xf];\ . Write the name of main excretory organ of human.  

                      (1) 

………………………………………………………………………………………………………… 

20. Pp6f uf]nf] P]gfsf] cufl8 j'mg} j:t'nfO{ /fVbf olb To;n] j:t'sf] cfs[lt ;'N6f] / j:t'eGbf 7'nf] 

agfpF5 eg] o;/L aGg] cfs[ltsf] ls/0f /]vflrq lvRg'xf];\ . If a spherical mirror forms an erect and 

magnified image of an object kept in front of it, sketch a ray diagram for the image so formed.        (1)  
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21. yd{;df j'mg sf/0fn] ubf{ To;leqsf] tfkzlSt ;+jfxg ljlwaf6 v]/ hfg kfpFb}g < What is the 

reason that the heat inside a thermos cannot escape through conduction?   (1) 

……………………………………………………………………………………………………………… 

22. tfk / tfkj|mddf Pp6f km/s n]Vg'xf];\ . Write a difference between heat and temperature.      (1) 

………………………………………………………………………………………………………………

……………………………………………………………………………………………………………… 

23. Wjlgsf] t/ª nDafOsf] kl/efiff lbg'xf];\ . Define wave length of sound wave.                 (1) 

………………………………………………………………………………………………………………

……………………………………………………………………………………………………………… 

24.  lrqdf b]vfOPsf] j'mg rfkdfks oGqn] b]vfPsf] jfo'd08nLo rfk :6ofG88{ jfo'd08nLo rfksf] 

glhs 5 < lsg <                           

(1)                                      

In which barometer, atmospheric 

pressure is closed to standard 

atmospheric pressure? Why?                             

 

                                                                                                          

 

 

……………………………………………………………………………………  

 

25. Iff/sf] kl/efiff n]Vg'xf];\ . Define base.                     (1) 

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………. 

 

A B 


